Part			A1	- C		Book Bloombing C		F					
					Appl	-	s Inc	=	Ferguson				
Code Control				rerms:		Net 30					IV	et 30	
Table Tabl	# CCSD #	Description		иом	•	Unit Price	Extended Price		Unit Price	Extended Price	· ·	Unit Price	Extended Price
Fig. 2016 Sect. Section Se	Group 1												
PMID	1 P530	Faucet, Lavatory 4" Deck Mount, Less Pop-up, T&S Brass #B-0871 ONLY	80	EA	T&S Brass B-0871	\$106.44	\$8,515.20	T&S Brass B-0871	\$122.77	\$9,821.60	TB0871	\$73.00	\$5,840.00
Fig. Searce, Limenters, Safer, Frank Bittern, Tab Bit	2 P531A	Faucet, Service Sink, Back mount, w/Vac Breaker, Zurn #Z843M1-XL ONLY	20	EA				Zurn Z843M#1-XL	\$144.82	\$2,896.40	Proflo/PF1119	\$78.00	\$1,560.00
	3 P532	Faucet, Lavatory, Single, Chrome, Cast Brass, T&S Brass #B-0710 ONLY	100	EA	T&S Brass B-0710	\$79.25	\$7,925.00	T&S Brass B-1710	\$89.55	\$8,955.00	TB0710	\$68.00	\$6,800.00
Part	4 P532B	Faucet, Lavatory, Single, Push Button, T&S Brass #B-0712 ONLY	100	EA	T&S Brass B-0712	\$94.74	\$9,474.00	T&S Brass B-0712	\$108.62	\$10,862.00	TB0712	\$57.00	\$5,700.00
\$\frac{7}{2}\$\frac{7}{2}\$\frac{5}{2}\$\frac{5}{2}\$\frac{1}{2}\$\frac{7}{2}\$\frac{7}{2}\$\frac{1}{2}\$\frac{7}{2}\$\fr	5 P558A	Faucet, 8" Sink, Wall Mount With 12" Swing Spout, T&S Brass #B-0231 ONLY	10	EA	T&S Brass B-0231	\$121.00	\$1,210.00	T&S Brass B-0231	\$134.91	\$1,349.10	TB0231	\$98.00	\$980.00
P 772 Faset, Single, Goode, Need, Deck Mount, with avetory Pitting, Zum REZESSEXIL, ONLY 2 E	6 P559	Faucet, Kitchen Type, 8", Less Sprayer, Union Brass #80 or CCSD Approved Equal	20	EA				Gerber 42426	\$70.64	\$1,412.80	Proflo/PFXC6880LSCP	\$64.00	\$1,280.00
Part	7 P559A	Faucet, Kitchen Type, 8", w/Sprayer & Aerator, Union Brass #81 or CCSD Approved Equal	10	EA					No Bid		Proflo/PFXC6880CP	\$75.00	\$750.00
10 PROACE Commonde, Writer, Floor Medium, Economic Regular Regul	8 P732	Faucet, Single, Goose, Neck, Deck Mount, w/Lavatory Fitting, Zurn #Z825B2-XL ONLY	20	EA				Zurn Z825B2-XL	\$105.62	\$2,112.40	ZZ825B2XL	\$109.00	\$2,180.00
Description	9 PB026		300	EA				Bemis 1955CT	\$18.14	\$5,442.00	Proflo/PFTSCOFE2000WH	\$14.00	\$4,200.00
Fig. Valve, Flush, Const tw/Account Revaker & Stop, Stone #111.XL ONLY 75 EA Stone #111.XL 375.50 \$5,062.50 Stone #111.XL 3080053 \$89.96 \$6,747.00 \$3080535 \$98.75 \$5,1362.50 \$1,000.00 \$1,000	10 PB042		50	EA				No Bid			Proflo/PF1721WH	\$65.00	\$3,250.00
PSD Valve, Flush, Clinet w/Necum Broader & Step, Stem #113 X1 ONLY 75 E.A. Stem #113 X1 S75.90 \$5,905.50 Stem #113 X1 10800053 \$98.96 \$6,747.00 \$3000053 \$68.75 \$34.75 \$34.75 \$3.7	11 PB043	Urinal, Wall Hung, White, Wall Mount, American Standard #6541.132 ONLY	20	EA				No Bid			Proflo/PF1815WH	\$82.00	\$1,640.00
P F52A Value, Flush, Limin, Strain Regal #185-100, ONLY Sop E A Signa 110-100, 175-50 Sign				,									
1								Sloan 111-XL 13080053	+		S3080053		
		Valve, Flush, Urinal, Sloan Regal #186-1-XL ONLY			Sloan 186-1XL			Sloan 3082675			S3082675		
E 50 Repair Kit, Fundle, Flush Valve, Crown & Royal, Sloan R-1003-A ONLY 100 EA Sloan R-1003-A \$14.74 \$14.74 00 RPM Products 30 23 1123 50.05 50.50									1			-	
For		, , ,				· ·			\$5.88	\$294.00			·
P578 Valve, Hose Bilbb 1/2" Maile X Hose	5 P564	Repair Kit, Handle, Flush Valve, Crown & Royal, Sloan R-1003-A ONLY	100	EA	Sloan R-1003-A	\$14.74	\$1,474.00	No Bid			S3317003	\$13.40	\$1,340.00
S P578A Valve, Hose Bibb 1/2" Female, Sillock 10 EA		O-Ring No. 42 For Sloan Flush Valves (25 pk) 1-3/8" O.D, 1-3/16" I.D., 3/32" Thick						RPM Products 30-23 1123	\$0.05	\$0.50	S5308696	\$0.65	\$6.50
9 P579 Valve, Hose Bibb 3/4" Male X Hose	7 P578	Valve, Hose Bibb 1/2" Male X Hose	10	EA				B&K 103-053NH	\$4.83	•	PF71DC	\$3.46	· · · · · · · · · · · · · · · · · · ·
10 9579A Valve, Hose Bilb 3/4" Female, Sillcock 10 EA Legend 107-175NL \$8.2.6 \$82.6.0 PF74FC \$5.3.90 \$39.00	8 P578A	Valve, Hose Bibb 1/2" Female, Sillcock	10	EA				Legend 107-174NL	\$7.10	\$71.00	PF74DC	\$3.46	\$34.60
11 P581 Silicock, Frostproof 1/2" FIP X 6" 10 EA		Valve, Hose Bibb 3/4" Male X Hose	10	EA				B&K 102-354HN	\$4.69	\$46.90	PF71FC	\$3.33	\$33.30
12 P582 Sillcock, Frostproof 1/2" FIP X 12" Vacuum Breaker Repair Kit For Watts RK 188A, 288A, 289, 388ASC, N388, 1/2" Valve Size, Watts 0887171 S16.83 S252.45 WRK188288388TD S13.95 S209.25 S17.94 S17.95 S209.25		Valve, Hose Bibb 3/4" Female, Sillcock	10					Legend 107-175NL	\$8.26	\$82.60	PF74FC	\$3.90	\$39.00
13 P738 Vacuum Breaker Repair KIF For Watts RK 188A, 288A, 289, 388ASC, N388, 1/2" Valve Size, 14 P738A Valve Size, 14 P738A Valve Size, 14 P738A Valve Size, 15 EA Watts 0887171 ONLY Sic. 83 S252.45 WRK18828388TD S13.95 S209.25 15 P740 Vacuum Breaker Repair KIF For Sloan Flush Valves #SP-VB 200 EA Sloan V-500-A S1.78 S356.00 Sloan 3323192 S1.76 S352.00 S3323182 S1.72 S344.00 16 P751 Rebuild kif for Sloan Water Closets, Sloan #A-36-A ONLY 20 EA Sloan A-36-A S10.40 S7,280.00 Sloan 3301036 S10.88 S7,615.00 S3301036 S10.62 S7,434.00 17 P754 Retro-fit Kifs For Sloan Low Consumption Uninals 1.0 Gal. Sloan #A-42-A ONLY 20 EA Sloan A-42-A S12.94 S258.80 Sloan 3301044 S13.96 S279.20 S3301044 S13.62 S772.40 19 P777 Robert Size Size Size Size Size Size Size Size								No Bid					
13 P/38 Watts 0887171 ONLY	12 P582		10	EA				No Bid			PF73D12	\$12.09	\$120.90
14 7/39A Watts 0887172 ONLY	13 P738	Watts 0887171 ONLY	15	EA				Watts 0887171	\$16.83	\$252.45	WRK188288388TD	\$13.95	\$209.25
16 P751 Rebuild Kit for Sloan Water Closets, Sloan #A-36-A ONLY 700 EA Sloan A-36-A \$10.40 \$7,280.00 Sloan 3301036 \$10.88 \$7,616.00 \$3301036 \$10.62 \$7,434.00 \$12.94 \$13.96 \$279.20 \$3301044 \$13.62 \$272.40 \$18.9776 Popper Assembly, Zurn #662682 ONLY 100 EA Sloan A-42-A \$12.94 \$258.80 Sloan 3301044 \$13.96 \$279.20 \$3301044 \$13.62 \$272.40 \$18.9776 Popper Assembly, Zurn #662682 ONLY 100 EA Sloan A-71 \$4.45 \$445.00 Sloan 0301121 \$4.31 \$431.00 \$20301188 \$5,616.00 \$5,628.20 \$35.80 \$3,580.00 \$3,580.00 \$19.9777 Inside Cover, Sloan #A-71 ONLY \$10 EA Sloan A-71 \$4.45 \$445.00 Sloan 0301121 \$4.31 \$431.00 \$3001188 \$5,616.00 \$5,600 \$6,000 \$				EA				Watts 0887172	\$16.83	\$252.45	WRK188288388TFG	\$13.95	\$209.25
17 P754 Retro-Fit Kits For Sloan Low Consumption Urinals 1.0 Gal. Sloan #A-42-A ONLY 20 EA Sloan A-42-A \$12.94 \$258.80 Sloan 3301044 \$13.96 \$279.20 \$3301044 \$13.62 \$272.40 \$18.776 Poppet Assembly, Zurn #G62682 ONLY 100 EA		•				· ·	·		· ·				
18 P776 Poppet Assembly, Zurn #G62682 ONLY 100 EA Sloan A-71 \$4.45 \$445.00 Sloan 0301121 \$4.31 \$431.00 \$50301168N \$6.32 \$632.00 19 P777 Inside Cover, Sloan #A-71 ONLY 100 EA Sloan A-71 \$4.45 \$445.00 Sloan 0301121 \$4.31 \$431.00 \$50301168N \$6.32 \$632.00 20 P8063 Repair Kit, For Delany Flush Boy, Urinal, Delany CD-14 ONLY 20 EA Sloan H542-ASD No Bid DF1411KU \$18.00 \$360.00 21 P8064 Repair Kit, For Delany Flush Boy, Urinal, Delany CD-14 ONLY 20 EA Sloan H542-ASD \$7.94 \$79.40 No Bid DF1411KU \$18.00 \$3308856 \$7.36 \$73.60 22 P8065 Repair Kit For Sloan Urinal Screwdriver Stop 3/4", Sloan H-543-ASD ONLY 10 EA Sloan H541-ASD \$7.94 \$397.00 No Bid S3308856 \$7.36 \$73.60 Group 3 Tu RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 1"M IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 \$290.00 \$990.0													
19 P777 Inside Cover, Sloan #A-71 ONLY 10 EA Sloan A-71 \$4.45 \$445.00 Sloan 0301121 \$4.31 \$431.00 S0301168N \$6.32 \$632.00 20 P8063 Repair Kit, For Delany Flush Boy, Closet, Delany F141-KC ONLY 30 EA No Bid DF1413KC \$18.00 \$540.00 21 P8064 Repair Kit, For Delany Flush Boy, Urinal, Delany CD-14 ONLY 20 EA No Bid DF1411KU \$18.00 \$360.00 22 P8065 Repair Kit For Sloan Urinal Screwdriver Stop 3/4", Sloan H-543-ASD ONLY 10 EA Sloan H542-ASD \$7.94 \$79.40 No Bid S3308856 \$7.36 \$73.60 23 P8066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY 50 EA Sloan H541-ASD \$7.94 \$397.00 No Bid S3308853 \$7.36 \$368.00 3 RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 BTU EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 105 PSI, Watts #140S-3					Sloan A-42-A	\$12.94	\$258.80						
20 PB063 Repair Kit, For Delany Flush Boy, Closet, Delany F141-KC ONLY 30 EA													
21 P8064 Repair Kit, For Delany Flush Boy, Urinal, Delany CD-14 ONLY 20 EA Sloan H542-ASD \$7.94 \$79.40 No Bid S3308856 \$7.36 \$73.60 22 P8065 Repair Kit For Sloan Urinal Screwdriver Stop 3/4", Sloan H-543-ASD ONLY 10 EA Sloan H542-ASD \$7.94 \$79.40 No Bid S3308856 \$7.36 \$73.60 23 P8066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY 50 EA Sloan H541-ASD \$7.94 \$397.00 No Bid S3308853 \$7.36 \$368.00 3 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 5 S99.00 S990.00 \$990.00					Sloan A-71	\$4.45	\$445.00		\$4.31	\$431.00			
22 P8065 Repair Kit For Sloan Urinal Screwdriver Stop 3/4", Sloan H-543-ASD ONLY 10 EA Sloan H542-ASD \$7.94 \$79.40 No Bid S3308856 \$7.36 \$73.60 23 P8066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY 50 EA Sloan H541-ASD \$7.94 \$397.00 No Bid S3308853 \$7.36 \$368.00 3 P8066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY 50 EA Sloan H541-ASD \$7.94 \$397.00 No Bid S3308853 \$7.36 \$368.00 4 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA Watts 1405-3/0256651 \$362.77 \$3,627.70 WLF140S3G25210G \$203.00 \$2,030.00 5 Relief Valve, T&P, 1"M IN X 1"F Out, Set @ 150 PSI, Watts #40XL-4 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 5 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 10 FA No Bid WLF40XL150210F \$99.00 \$990.00 6 S990.00 \$990.0	\vdash												· · · · · · · · · · · · · · · · · · ·
23 PB066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY 50 EA Sloan H541-ASD \$7.94 \$397.00 No Bid \$3308853 \$7.36 \$368.00 Group 3 1 RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid \$3308853 \$7.36 \$368.00 2 RV003 Relief Valve, T&P, 1"M IN X 1"F Out, Set @ 150 PSI, Watts #40XL-4 ONLY Set @ 2,135,000 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00 3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 10 FA No Bid WLF40XL150210F \$99.00 \$990.00	\vdash										DF1411KU		
RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA No Bid No B													
RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 10 EA Watts 1405-3/0256651 \$362.77 \$3,627.70 WLF140S3G25210G \$203.00 \$2,030.00		Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY	50	EA	Sloan H541-ASD	\$7.94	\$397.00	No Bid			S3308853	\$7.36	\$368.00
1 RVU02 BTU	Group 3												
2 RV003 BTU 10 EA No Bid WLF40XL150210G \$170.00 \$1,700.00	1 RV002	BTU	10	EA				Watts 1405-3/0256651	\$362.77	\$3,627.70	WLF140S3G25210G	\$203.00	\$2,030.00
1 3 1RV/05 1	2 RV003		10	EA				No Bid			WLF40XL150210G	\$170.00	\$1,700.00
	3 RV005		10	EA				No Bid			WLF140S3150210F	\$99.00	\$990.00

			endor:				Best Plumbing Sp	Ferguson				
		Terms:		Net	30		Net 3	0			Net 30	
# CCSD #	Description	Est. Qty.	UOM	Manufacturer/ Model # Unit F	Price Ex	tended Price	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price
Group 3 cont											-	
4 RV006	Relief Valve, T&P, 3/4"M IN X 3/4"F Out, Set @ 150 PSI, Watts #40XL-5 ONLY Set @ 1,438,000 BTU	10	EA				No Bid			WLF40XL150210F	\$99.00	\$990.00
Group 4	12/10/09/00/09/10											
1 P403	Sealant, Pipe, Teflon, 16 FL. OZ Bottle With Brush Top, Rector Seal Tru-Blue ONLY	20	EA				Rector Seal 31431, CQ12 required	\$13.99	\$279.80	REC31431	\$13.00	\$260.00
2 P404	Solder, 95/4.5/.5 "Lead Free" 1 LB. Roll, Lenox Brand ONLY NO AWARD	20	EA				Worthington 331760	\$19.37	\$387.40	W331760	\$14.41	\$288.20
3 P534	Putty, "Plumbers Putty", 14 oz. Tube	40	Tube				Best Plumbing 99700	\$1.40	\$56.00	H25101	\$2.18	\$87.20
4 P541	Closet Bolts "T" 5/16" X 2-1/4" Solid Brass, With Nut and Washer, 2 Per Pkg	300	PKG				EZ Flo 40028	\$0.43	\$129.00	PFC114A10RW	\$2.00	\$600.00
5 P542	Wax Ring, W/O Flange, Full Size	300	EA				Oatey 007005-48	\$0.92	\$276.00	PFWRWHXW	\$2.00	\$600.00
6 P551	Abrasive Cloth, Open Mesh Sand Cloth 1-1/2" W x 10 YD Roll	50	RL				MillRose 70170	\$3.04	\$152.00	PS0404	\$6.00	\$300.00
7 P569	Washer, Slip Nut 1-1/2" Square Cut, Rubber	120	EA				RPM Products W-522	\$0.13	\$15.60	PFSNWJ	\$0.10	\$12.00
8 P571	Washer, Slip Nut 1-1/4" Square Cut, Rubber	50	EA				Danco 36642B	\$0.34	\$17.00	PFSNWH	\$0.07	\$3.50
9 P574	Washers, Faucet Assortment, Qty. 200	12	EA				Best Plumbing 23203	\$54.04	\$648.48	LIN110119	\$19.46	\$233.52
10 P577	Teflon Tape 1/2" X 520'	80	EA				EZ Flo 50013	\$0.39	\$31.20	PSGTTD520	\$1.70	\$136.00
11 P731	Strapping, Plumbers Galvanized 24 Gauge / 10 FT. Roll	12	RL				No Bid			PF100G24F10	\$1.15	\$13.80
12 P774	Black Slip Joint Gasket 3/4" Sloan Part #5306113 ONLY	100	EA				Sloan 5306113	\$0.46	\$46.00	S5306113	\$1.41	\$141.00
13 PB022	Tubing, Soft Copper, 1/4" O.D., Dehydrated, Ends 50' Roll	10	BX				No Bid			RTB	\$20.71	\$207.10
14 PB023	Tubing, Soft Copper, 3/8" O.D., Dehydrated, Ends 50' Roll	10	BX				No Bid			RTC	\$29.28	\$292.80
15 PB024	Tubing, Soft Copper, 1/2" O.D., Dehydrated, Ends 50' Roll	10	BX				No Bid			RTD	\$41.65	\$416.50
16 PB025	Tubing, Soft Copper, 5/8" O.D., Dehydrated, Ends 50' Roll	10	BX				No Bid			RTE	\$55.75	\$557.50
Group 5	<u> </u>							ı				
1 P501A	Backflow Preventer, 3/4" Brass, Hose Bibb and Sillcock Connection Type	20	EA				No Bid			PF73ASFU	\$13.00	\$260.00
2 P509	Air Vent, Automatic #79, 75 PSI 1/2" NPT Female & 3/4' NPT Male Hoffman Brand or CCSD Approved Equal	12	EA				Hoffman #79	\$99.46	\$1,193.52	WFV4M1F	\$19.76	\$237.12
3 P512	Air Vent, Automatic #7, Max. 75 PSI, 240 DEG. F. 1/8" NPT Female Hoffman Brand or CCSD Approved Equal	12	EA				Maid o Mist #7	\$19.33	\$231.96	TAC4004	\$12.16	\$145.92
4 P520	Stop, Angle, 1/2" FIP. X 1/2" OD. Comp.	20	EA				Keeney #2049PCLF	\$5.94	\$118.80	BOR37XC	\$15.30	\$306.00
5 P521	Stop, Angle, 3/8" FIP. X 1/2" OD. Comp.	20	EA				Brasscraft OR35ZXC	\$20.70	\$414.00	BOR35XC	\$20.85	\$417.00
6 P522	Stop, Angle, 3/8" FIP. X 3/8" OD. Comp.	20	EA				Keeney 2047PCLF	\$6.51	\$130.20	PFXAT22C	\$3.50	\$70.00
7 P523	Stop, Straight 1/2" FIP. X 1/2" OD. Comp.	20	EA				No Bid			BOR32XC	\$15.30	\$306.00
8 P524	Stop, Angle, 1/2" FIP. X 3/8" OD. Comp.	20	EA				Keeney 2048PCLF	\$5.60	\$112.00	PFXAT32C	\$3.90	\$78.00
9 P525	Stop, Straight 1/2" NON COMP. X 3/8" OD. Comp.	20	EA				No Bid			BOR12XC	\$6.00	\$120.00
10 P526	Stop, Angle, 1/2" NOM. COMP. X 3/8" OD. Comp.	20	EA				No Bid			BOR17XC	\$5.30	\$106.00
11 P527	P-Trap, 1-1/4" 17 Gauge, Chrome, Slip Nut Type	50	EA				Keeney 301CP	\$10.54	\$527.00	PFPTB100	\$9.00	\$450.00
12 P528	P-Trap, 1-1/2" 17 Gauge, Chrome, Slip Nut Type	30	EA				Keeney 305CP	\$14.27	\$428.10	PFPTB107	\$10.00	\$300.00
13 P529A	P.O. Plug W/Strainer 1-1/4" x 8" Cast Brass, With 17 Gauge Tailpiece, Mark's Cat #04425 or CCSD Approved Equal NO AWARD	50	EA				Best Plumbing 81128	\$34.41	\$1,720.50	KEE1614PC	\$30.00	\$1,500.00
14 P533	Cover, Hole, Faucet, 2"	100	EA				EZ Flo 1034B	\$0.91	\$91.00	PFFHCP	\$3.11	\$311.00
15 P543A	Flange, Closet, PVC Quick Connect, Fits 4" Cast Iron or SCH40 PVC Pipe. Mark's Plumbing #23428 or CCSD Approved Equal	30	EA				Bruco GH950P	\$13.93	\$417.90	O43539	\$15.40	\$462.00
16 P544	Spud, Closet 1-1/2" x 1-1/2" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	160	EA				No Bid			PF103	\$3.00	\$480.00
17 P545	Spud, Urinal Reducing 1-1/4" x 3/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	20	EA				No Bid			PF108	\$3.00	\$60.00
18 P546	Spud, Urinal 1-1/4" x 1-1/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	20	EA				No Bid					
19 P549	Spud, Closet Reducing 1" x 3/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	60	EA				No Bid			PF105	\$3.00	\$180.00
20 P552	Slip Joint Extension Tube, 1-1/2" X 12" Chrome 22 Gauge	20	EA				Keeney 2047PCLF	\$6.51	\$130.20	PFETB613	\$5.65	\$113.00
	<u> </u>						· · · · · · · · · · · · · · · · · · ·					

			endor: Terms:	Арр	le Specialties Net 30	Inc	Best Plumbing Net	•		Ferguson Net 30			
# CCSD #	Description	Est. Qty.	UOM	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	
Group 5 cont.													
21 P552A	Tail Piece, 1-1/2" X 12" Flanged Chrome 22 Gauge	20	EA				Keeney 114PC	\$6.12	\$122.40	PFTPB112	\$3.40	\$68.00	
22 P553	Slip Joint Extension Tube, 1-1/4" X 6" Chrome 22 Gauge	20	EA				No Bid			PFETB615	\$3.79	\$75.80	
23 P554	Tail Piece, 1-1/4" X 12" Flanged Chrome, 22 Gauge	20	EA				Keeney 118PC	\$19.08	\$381.60	PFETB614	\$4.60	\$92.00	
24 P554A	Sweat/Slip In Extension Tube, 1-1/2" X 12" Chrome 22 Gauge	20	EA				No Bid			PFETB613	\$5.23	\$104.60	
25 P554B	Sweat/Slip In Extension Tube, 1-1/2" X 8" Chrome 22 Gauge	20	EA				No Bid			PFETB618	\$5.18	\$103.60	
26 P555	Slip Joint Extension Tube, 1-1/4" X 12" Chrome 22 Gauge	20	EA				Keeney 1903PC	\$6.07	\$121.40	PFETB614	\$4.60	\$92.00	
27 P557	Basket Sink Strainer, Complete Assy., 4" Stainless	10	EA				World & Main 2114P	\$4.07	\$40.70	PF1431SS	\$4.70	\$47.00	
28 P561	Bubbler, Valve Drinking Fountain 3/8" F.I.P. Supply. Push Button, Chrome Plated With Brass Cartridge Lead Free	10	EA				No Bid			LIN063306	\$51.00	\$510.00	
29 P572B	Spud Gasket, Close-Coupled 3-1/4" x 2-1/4" x 11/16" Sponge Rubber , Mark's #09195 or CCSD Approved Equal	30	EA				No Bid			PFTBG	\$1.00	\$30.00	
30 P594	Thermocouple, 24"	10	EA				No Bid			PSTC24	\$5.48	\$54.80	
31 P597	Thermocouple, 48"	10	EA				No Bid					\$0.00	
32 P598	Thermocouple, 72"	10	EA				No Bid					\$0.00	
33 P677	Gas, Propane 14 OZ. Disp. Bottle	20	EA				No Bid			TPT1	\$5.82	\$116.40	
34 P677A	Gas, Mapp 14 OZ. Disp. Bottle	30	EA				No Bid			TMPT1	\$6.85	\$205.50	
35 P713	Coupling, Pump, Cast Metal, 1/2" X 1/2" Offset, Bell & Gossett #118473 ONLY	10	EA				B&G 118473	\$52.56	\$525.60	B118473	\$37.82	\$378.20	
36 P714	Coupling, Pump, Cast Metal, 1/2" X 1/2" Straight Bell & Gossett #118723 ONLY	10	EA				B&G 118723	\$27.75	\$277.50	B118723	\$22.63	\$226.30	
37 P721	Booster Pump w/Motor (1/25 HP) Bell & Gossett #103252LF ONLY	20	EA				No Bid			B103252LF	\$270.00	\$5,400.00	
38 P767	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 16" X 1/2" FIP X 1/2" COMP	100	EA				Fluidmaster B3F16	\$3.07	\$307.00	PFX146304	\$5.39	\$539.00	
39 P768	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 7/8" BCK X 1/2" COMP	30	EA				No Bid			PFX146474	\$2.90	\$87.00	
40 P769	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 1/2" FIP X 3/8" COMP	200	EA				LSP #SFC-120-PP	\$2.46	\$492.00	PFX146024	\$2.12	\$424.00	
41 P770	Water Keys, 4 In 1, 1/4", 9/32", 5/16", 11/32"	60	EA				Suncraft 12013	\$2.09	\$125.40	RAP50105	\$4.00	\$240.00	
42 P771	Zurn Frost Proof Key, 3-3/4" Long	50	EA				No Bid			ZP1300PART13KEY	\$9.00	\$450.00	
43 P772	Closet Spanner Repair Flange	50	EA				Jones Stephens C87-100	\$3.52	\$176.00	PFSF1	\$3.80	\$190.00	
44 P773	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 1/2" COMP X 1/2" FIP	100	EA				LSP #SFC-320-PP	\$5.09	\$509.00	PFX146304	\$3.39	\$339.00	
45 PB055	Bubbler, Valve Halsey Taylor Part #74025076000 ONLY	10	EA				HT 74025076000	\$287.61	\$2,876.10	H2507A	\$267.00	\$2,670.00	
46 PB057	Bubbler, Valve, Dial-A-Drink Oasis #030744-006	50	EA				No Bid			0030774006	\$99.50	\$4,975.00	
# Descripti					Discount		Discount			Discount			
	Discount												
1 Per Speci	al Terms & Conditions 6.9, please provide a discount for related items not listed.				20% off Best Plun	nbing Catalog Lis							

Awarded items highlighted in yellow

Did not meet specs. See Explanation of Award

		endor: Terms:	Marks Plun Net	•		Plumbmaster Net 30	TMS South Inc 1% 10, Net 30						
# CCSD # Description	Est. Qty.	UOM	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price w/o discount	Extended Price	Unit Price w/discount	Extended Price
Group 1													
1 P530 Faucet, Lavatory 4" Deck Mount, Less Pop-up, T&S Brass #B-0871 ONLY	80	EA	T&S Brass #B-0871	\$115.45	\$9,236.00	T&S Brass B-0871 - PM# 33286	\$135.02	\$10,801.60	B-0871	\$81.87	\$6,549.60	\$81.0513	\$6,484.10
2 P531A Faucet, Service Sink, Back mount, w/Vac Breaker, Zurn #Z843M1-XL ONLY	20	EA	Zurn #Z843M1-XL	\$111.46	\$2,229.20				Z843M1-XL	\$85.50	\$1,710.00	\$84.6450	\$1,692.90
3 P532 Faucet, Lavatory, Single, Chrome, Cast Brass, T&S Brass #B-0710 ONLY	100	EA	T&S Brass #B-0710	\$88.50	\$8,850.00	T&S Brass B-0710 - PM# 940357NL	\$100.71	\$10,071.00	B-0710	\$61.54	\$6,154.00	\$60.9246	\$6,092.46
4 P532B Faucet, Lavatory, Single, Push Button, T&S Brass #B-0712 ONLY	100	EA	T&S Brass #B-0712	\$92.51	\$9,251.00	T&S Brass B-0712 - PM# 940375	\$128.16	\$12,816.00	B-0712	\$59.70	\$5,970.00	\$59.1030	\$5,910.30
5 P558A Faucet, 8" Sink, Wall Mount With 12" Swing Spout, T&S Brass #B-0231 ONLY	10	EA	T&S Brass #B-0231	\$113.69	\$1,136.90	T&S Brass B-0231 - PM# 33179NL	\$159.95	\$1,599.50	B-0231	\$95.60	\$956.00	\$94.6440	\$946.44
6 P559 Faucet, Kitchen Type, 8", Less Sprayer, Union Brass #80 or CCSD Approved Equal	20	EA	Union Brass #80	\$80.25	\$1,605.00				#80	\$77.90	\$1,558.00	\$77.1210	\$1,542.42
7 P559A Faucet, Kitchen Type, 8", w/Sprayer & Aerator, Union Brass #81 or CCSD Approved Equal	10	EA	Union Brass #81 or CCSD Approved	\$94.74	\$947.40				#81	\$91.54	\$915.40	\$90.6246	\$906.25
8 P732 Faucet, Single, Goose, Neck, Deck Mount, w/Lavatory Fitting, Zurn #Z825B2-XL ONLY	20	EA							Z825B2-XL	\$61.65	\$1,233.00	\$61.0335	\$1,220.67
9 PB026 Commode Seat, White, Elongated, Open Front, Less C, Bemis #1955CT ONLY	300	EA	Bemis #1955	\$17.74	\$5,322.00	Bemis 1955CT - PM# 41180	\$21.75	\$6,525.00	1955CT	\$17.50	\$5,250.00	\$17.3250	\$5,197.50
10 PB042 Commode, White, Floor Mount, Elongated, Regular Height, American Standard #2234.015 ONLY	50	EA	American Standard #2234.015	\$82.63	\$4,131.50	Am Std 2234.015 - PM# 811018	\$82.50	\$4,125.00					
11 PB043 Urinal, Wall Hung, White, Wall Mount, American Standard #6541.132 ONLY	20	EA				Am Std 6541.132 - PM# 843490	\$102.90	\$2,058.00				<u> </u>	
Group 2													
1 P562 Valve, Flush, Closet w/Vacuum Breaker & Stop, Sloan #111-XL ONLY	75	EA	Sloan # 111-XL	\$77.45	\$5,808.75	Sloan 111-XL - PM# 71048	\$95.85	\$7,188.75	111-XL	\$79.95	\$5,996.25	\$79.1505	\$5,936.29
2 P562A Valve, Flush, Urinal, Sloan Regal #186-1-XL ONLY	50	EA	Sloan #186-1-XL	\$77.66	\$3,883.00	Sloan 186-1-XL - PM# 71047	\$95.85	\$4,792.50	186-1-XL	\$79.95	\$3,997.50	\$79.1505	\$3,957.53
3 P562B Valve, Flush, Closet w/Vacuum Breaker & Stop, Sloan #110-XL ONLY	30	EA	Sloan #110-XL	\$77.66	\$2,329.80	Sloan 110-XL - PM# 71046	\$95.85	\$2,875.50	110-XL	\$79.95	\$2,398.50	\$79.1505	\$2,374.52
4 P563 Repair Kit, Flush Valve, For Royal #098483	50	EA	Sloan # 098483	\$2.25	\$112.50				A-156-AA	\$5.69	\$284.50	\$5.6331	\$281.66
5 P564 Repair Kit, Handle, Flush Valve, Crown & Royal, Sloan R-1003-A ONLY	100	EA				Sloan R-1003-A - PM# 70643	\$2.19	\$219.00	R-1003-A	\$12.75	\$1,275.00	\$12.6225	\$1,262.25
6 P570 O-Ring No. 42 For Sloan Flush Valves (25 pk) 1-3/8" O.D, 1-3/16" I.D., 3/32" Thick	10	PK	Sloan #042	\$0.04	\$0.40	Sloan #42 - PM# 35759 (24 per kit - priced as EACH)	\$0.09	\$0.90	40950069X	\$2.95	\$29.50	\$2.9205	\$29.21
7 P578 Valve, Hose Bibb 1/2" Male X Hose	10	EA	Arrowhead #301LF	\$8.59	\$85.90	PM# 80035	\$4.34	\$43.40	57021080/Matco	\$3.60	\$36.00	\$3.5640	\$35.64
8 P578A Valve, Hose Bibb 1/2" Female, Sillcock	10	EA	Arrowhead #255LF	\$8.59	\$85.90	PM# 54223	\$4.19	\$41.90	40300234/Matco	\$4.73	\$47.30	\$4.6827	\$46.83
9 P579 Valve, Hose Bibb 3/4" Male X Hose	10	EA	Arrowhead #302LF	\$8.88	\$88.80	PM# 55746	\$3.15	\$31.50	57021082/Matco	\$3.61	\$36.10	\$3.5739	\$35.74
10 P579A Valve, Hose Bibb 3/4" Female, Sillcock	10	EA	Arrowhead # 355LF	\$9.38	\$93.80	PM# 54233	\$4.29	\$42.90	57021070/Matco	\$4.39	\$43.90	\$4.3461	\$43.46
11 P581 Sillcock, Frostproof 1/2" FIP X 6"	10	EA	Arrowhead # 455-06LF	\$20.81	\$208.10	PM# 56019	\$11.39	\$113.90	17P-06-MH	\$25.77	\$257.70	\$25.5123	\$255.12
12 P582 Sillcock, Frostproof 1/2" FIP X 12"	10	EA	Arrowhead #455-12LF	\$23.16	\$231.60	PM# 55739	\$13.49	\$134.90	90M-12-MH	\$30.21	\$302.10	\$29.9079	\$299.08
13 P738 Vacuum Breaker Repair Kit For Watts RK 188A,288A, 289, 388ASC, N388, 1/2" Valve Size, Watts 0887171 ONLY	15	EA	Watts #0887172	\$14.93	\$223.95	PM# 51911	\$21.29	\$319.35	887171	\$17.50	\$262.50	\$17.3250	\$259.88
14 P738A Vacuum Breaker Repair Kit For Watts RK 188A,288A, 289, 388ASC, N388, 3/4" Valve Size, Watts 0887172 ONLY	15	EA	Watts #0887172	\$16.05	\$240.75	PM# 51912	\$15.69	\$235.35	887172	\$17.50	\$262.50	\$17.3250	\$259.88
15 P740 Vacuum Breaker Repair Kit For Sloan Flush Valves #SP-VB	200	EA	Sloan #SP-VB	\$1.75	\$350.00	Sloan SP-VB - PM# 70783	\$1.99	\$398.00	V-551-A Sloan	\$2.12	\$424.00	\$2.0988	\$419.76
16 P751 Rebuild Kit for Sloan Water Closets, Sloan #A-36-A ONLY	700	EA	Sloan #A36-A	\$10.75	\$7,525.00	Sloan A-36-A - PM# 70779	\$11.70	\$8,190.00	A-36-A	\$10.31	\$7,217.00	\$10.2069	\$7,144.83
17 P754 Retro-Fit Kits For Sloan Low Consumption Urinals 1.0 Gal. Sloan #A-42-A ONLY	20	EA	Sloan #A-42-A	\$13.79	\$275.80	Sloan A-42-A - PM# 70557	\$14.95	\$299.00	A-42-A	\$12.98	\$259.60	\$12.8502	\$257.00
18 P776 Poppet Assembly, Zurn #G62682 ONLY	100	EA							G62682	\$17.75	\$1,775.00	\$17.5725	\$1,757.25
19 P777 Inside Cover, Sloan #A-71 ONLY	100	EA	Sloan #A-71	\$4.34	\$434.00	Sloan A-71 - PM# 70618	\$4.97	\$497.00	A-71	\$4.33	\$433.00	\$4.2867	\$428.67
20 PB063 Repair Kit, For Delany Flush Boy, Closet, Delany F141-KC ONLY	30	EA	Delany #F141-KC	\$7.83	\$234.90	Delany F141-KC - PM# 71248	\$4.25	\$127.50	F-141-KC OEM	\$7.85	\$235.50	\$7.7715	\$233.15
21 PB064 Repair Kit, For Delany Flush Boy, Urinal, Delany CD-14 ONLY	20	EA				Delany CD-14 - PM# 71249	\$5.09	\$101.80	F-141-KU OEM	\$7.85	\$157.00	\$7.7715	\$155.43
22 PB065 Repair Kit For Sloan Urinal Screwdriver Stop 3/4", Sloan H-543-ASD ONLY	10	EA	Sloan #H-542-ASD	\$7.85	\$78.50	Sloan H-543-ASD - PM# 70742	\$6.99	\$69.90	H-543	\$8.08	\$80.80	\$7.9992	\$79.99
23 PB066 Repair Kit For Sloan Urinal Screwdriver Stop 1", Sloan H-541-ASD ONLY	50	EA	Sloan #H-541-ASD	\$7.85	\$392.50	Sloan H-541-ASD - PM# 70741	\$6.99	\$349.50	H-541	\$8.50	\$425.00	\$8.4150	\$420.75
Group 3													
1 RV002 Relief Valve, T&P, 1"F IN X 1"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 2,135,000 BTU	10	EA							0256651 Watts	\$293.00	\$2,930.00	\$290.0700	\$2,900.70
2 RV003 Relief Valve, T&P, 1"M IN X 1"F Out, Set @ 150 PSI, Watts #40XL-4 ONLY Set @ 2,135,000 BTU	10	EA							0163725 Watts	\$114.99	\$1,149.90	\$113.8401	\$1,138.40
3 RV005 Relief Valve, T&P, 3/4"F IN X 3/4"F Out, Set @ 125 PSI, Watts #140S-3 ONLY Set @ 1,438,000 BTU	10	EA				Watts 140S-3 - PM# 59214NL	\$394.47	\$3,944.70	0254480 Watts	\$180.29	\$1,802.90	\$178.4871	\$1,784.87

		ndor: erms:	Marks Plun Net	_		Plumbmaste Net 30	r Inc		TMS South Inc 1% 10, Net 30					
# CCSD# Description	Est. Qty.	иом	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Unit Price	Extended Price	
Group 3 cont.							-							
4 RV006 Relief Valve, T&P, 3/4"M IN X 3/4"F Out, Set @ 150 PSI, Watts #40XL-5 ONLY Set @ 1,438,000 BTU	10	EA				Watts 40XL-5 - PM# 59212NL	\$155.39	\$1,553.90	0156731 Watts	\$95.38	\$953.80	\$94.4262	\$944.26	
Group 4														
1 P403 Sealant, Pipe, Teflon, 16 FL. OZ Bottle With Brush Top, Rector Seal Tru-Blue ONLY	20	EA												
2 P404 Solder, 95/4.5/.5 "Lead Free" 1 LB. Roll, Lenox Brand ONLY NO AWARD	20	EA												
3 P534 Putty, "Plumbers Putty", 14 oz. Tube	40 T	Tube				PM# 97542	\$1.69	\$67.60						
4 P541 Closet Bolts "T" 5/16" X 2-1/4" Solid Brass, With Nut and Washer, 2 Per Pkg	300 I	PKG	Jetstar # 09132	\$1.63	\$489.00	PM# 40558	\$2.37	\$711.00	40210013	\$2.38	\$714.00	\$2.3562	\$706.86	
5 P542 Wax Ring, W/O Flange, Full Size	300	EA	Harvey #007005-48	\$0.75	\$225.00	PM# 40618	\$1.09	\$327.00	7100201	\$1.10	\$330.00	\$1.0890	\$326.70	
6 P551 Abrasive Cloth, Open Mesh Sand Cloth 1-1/2" W x 10 YD Roll	50	RL	Jetstar #4908	\$3.76	\$188.00	PM# 60940	\$3.19	\$159.50						
7 P569 Washer, Slip Nut 1-1/2" Square Cut, Rubber	120	EA	Sloan #322001	\$0.05	\$6.00	PM# 36649	\$0.15	\$18.00	40950008	\$0.10	\$12.00	\$0.0990	\$11.88	
8 P571 Washer, Slip Nut 1-1/4" Square Cut, Rubber	50	EA	Sloan #322176	\$0.14	\$7.15	PM# 36644	\$0.15	\$7.50	40950107	\$0.10	\$5.00	\$0.0990	\$4.95	
9 P574 Washers, Faucet Assortment, Qty. 200	12	EA	QTY 309 Washers	\$57.50	\$690.00	PM# 50063	\$45.00	\$540.00	42720520	\$20.41	\$244.92	\$20.2059	\$242.47	
10 P577 Teflon Tape 1/2" X 520'	80	EA	EZ Flow # 50013	\$0.36	\$28.80	PM# 36387	\$0.49	\$39.20	60500136	\$0.25	\$20.00	\$0.2475	\$19.80	
11 P731 Strapping, Plumbers Galvanized 24 Gauge / 10 FT. Roll	12	RL				PM# 55004	\$1.19	\$14.28	40800602	\$0.90	\$10.80	\$0.8910	\$10.69	
12 P774 Black Slip Joint Gasket 3/4" Sloan Part #5306113 ONLY	100	EA				Sloan 5306113 - PM# 70935	\$0.49	\$49.00	5306113	\$0.51	\$51.00	\$0.5049	\$50.49	
13 PB022 Tubing, Soft Copper, 1/4" O.D., Dehydrated, Ends 50' Roll	10	ВХ												
14 PB023 Tubing, Soft Copper, 3/8" O.D., Dehydrated, Ends 50' Roll	10	ВХ												
15 PB024 Tubing, Soft Copper, 1/2" O.D., Dehydrated, Ends 50' Roll	10	ВХ												
16 PB025 Tubing, Soft Copper, 5/8" O.D., Dehydrated, Ends 50' Roll	10	ВХ												
Group 5														
1 P501A Backflow Preventer, 3/4" Brass, Hose Bibb and Sillcock Connection Type	20	EA				Woodford - PM# 51902	\$23.16	\$463.20	B-5900 CSB	\$3.52	\$70.40	\$3.4848	\$69.70	
2 P509 Air Vent, Automatic #79, 75 PSI 1/2" NPT Female & 3/4' NPT Male Hoffman Brand or CCSD Approved Equal	12	EA	Hoffman #401488	\$116.00	\$1,392.00									
3 P512 Air Vent, Automatic #7, Max. 75 PSI, 240 DEG. F. 1/8" NPT Female Hoffman Brand or CCSD Approved Equal	12	EA												
4 P520 Stop, Angle, 1/2" FIP. X 1/2" OD. Comp.	20	EA	Brass Craft # OR07XC	\$12.30	\$246.00	PM# 56048NL	\$4.49	\$89.80	114-123NL Legend	\$3.98	\$79.60	\$3.9402	\$78.80	
5 P521 Stop, Angle, 3/8" FIP. X 1/2" OD. Comp.	20	EA	Brass Craft #OR35XC	\$13.83	\$276.60				04336 EZ-FLO	\$4.09	\$81.80	\$4.0491	\$80.98	
6 P522 Stop, Angle, 3/8" FIP. X 3/8" OD. Comp.	20	EA	Brass Craft #OR15XC	\$5.19	\$103.80	PM# 83422	\$6.89	\$137.80	114-102NL Legend	\$3.15	\$63.00	\$3.1185	\$62.37	
7 P523 Stop, Straight 1/2" FIP. X 1/2" OD. Comp.	20	EA	Brass Craft #OR32XC	\$13.15	\$263.00				114-233NL Legend	\$4.57	\$91.40	\$4.5243	\$90.49	
8 P524 Stop, Angle, 1/2" FIP. X 3/8" OD. Comp.	20	EA	Brass Craft #OR17XC	\$5.21	\$104.20	PM# 83418	\$6.46	\$129.20	Legend	\$4.19	\$83.80	\$4.1481	\$82.96	
9 P525 Stop, Straight 1/2" NON COMP. X 3/8" OD. Comp.	20	EA	Brass Craft #OCR14XC	\$6.86	\$137.20	PM# 50100NL	\$4.79	\$95.80	114-204NL Legend	\$4.30	\$86.00	\$4.2570	\$85.14	
10 P526 Stop, Angle, 1/2" NOM. COMP. X 3/8" OD. Comp.	20	EA	Brass Craft # OR17XC	\$5.21	\$104.20	PM# 50099NL	\$4.51	\$90.20	114-104NL Legend	\$5.11	\$102.20	\$5.0589	\$101.18	
11 P527 P-Trap, 1-1/4" 17 Gauge, Chrome, Slip Nut Type	50	EA	Jetstar #27863	\$5.06	\$253.00	PM# 50619	\$17.82	\$891.00	CSB	\$11.60	\$580.00	\$11.4840	\$574.20	
12 P528 P-Trap, 1-1/2" 17 Gauge, Chrome, Slip Nut Type	30	EA	Jetstar #27864	\$8.81	\$264.30	PM# 57700	\$23.30	\$699.00	CSB	\$14.00	\$420.00	\$13.8600	\$415.80	
P.O. Plug W/Strainer 1-1/4" x 8" Cast Brass, With 17 Gauge Tailpiece, Mark's Cat #0442! or CCSD Approved Equal NO AWARD	50	EA	C.S.B # 3700-6PC	\$7.93	\$396.50	PM# 56096	\$5.49	\$274.50	3700-8PC CSB	\$11.25	\$562.50	\$11.1375	\$556.88	
14 P533 Cover, Hole, Faucet, 2"	100	EA				PM# 36047	\$0.41	\$41.00		\$0.75	\$75.00	\$0.7425	\$74.25	
15 P543A Flange, Closet, PVC Quick Connect, Fits 4" Cast Iron or SCH40 PVC Pipe. Mark's Plumbing #23428 or CCSD Approved Equal	30	EA	Bruco # GH950P	\$11.88	\$356.40	PM# 44216	\$12.75	\$382.50	GH950P	\$13.75	\$412.50	\$13.6125	\$408.38	
16 P544 Spud, Closet 1-1/2" x 1-1/2" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	160	EA	Jetstar #09206	\$3.38	\$540.80	PM# 40501	\$4.49	\$718.40	40210959X	\$6.50	\$1,040.00	\$6.4350	\$1,029.60	
17 P545 Spud, Urinal Reducing 1-1/4" x 3/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	20	EA	Jetstar #09209	\$2.01	\$40.20	PM# 40506	\$2.49	\$49.80						
18 P546 Spud, Urinal 1-1/4" x 1-1/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	20	EA	Jetstar #09205	\$2.46	\$49.20	PM# 40502	\$3.49	\$69.80	40210960X	\$5.95	\$119.00	\$5.8905	\$117.81	
19 P549 Spud, Closet Reducing 1" x 3/4" Deluxe Brass With Thick Gasket and Friction Ring, Made in USA	60	EA	Jetstar #09208	\$1.96	\$117.60	PM# 40505	\$2.69	\$161.40	40210961X	\$4.75	\$285.00	\$4.7025	\$282.15	
20 P552 Slip Joint Extension Tube, 1-1/2" X 12" Chrome 22 Gauge	20	EA	Jetstar #04514	\$3.38	\$67.60	PM# 50770	\$11.70	\$234.00	50552184	\$5.38	\$107.60	\$5.3262	\$106.52	

			endor: Terms:	Marks Plun Net	Ū		Plumbmaster Net 30	Inc		TMS South Inc 1% 10, Net 30				
# CC	SD # Description	Est. Qty.	UOM	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Manufacturer/ Model #	Unit Price	Extended Price	Unit Price	Extended Price
Group 5 cont.												•		
21 P5	Tail Piece, 1-1/2" X 12" Flanged Chrome 22 Gauge	20	EA	Jetstar #04409	\$3.65	\$73.00	PM# 50759	\$5.88	\$117.60					
22 P5	Slip Joint Extension Tube, 1-1/4" X 6" Chrome 22 Gauge	20	EA	Jetstar #04513	\$1.98	\$39.60				40801287	\$3.16	\$63.20	\$3.1284	\$62.57
23 P5	Tail Piece, 1-1/4" X 12" Flanged Chrome, 22 Gauge	20	EA	Jetstar #04516	\$4.27	\$85.40	PM# 50551	\$5.09	\$101.80					
24 P5	54A Sweat/Slip In Extension Tube, 1-1/2" X 12" Chrome 22 Gauge	20	EA											
25 P5	Sweat/Slip In Extension Tube, 1-1/2" X 8" Chrome 22 Gauge	20	EA							40801305	\$3.10	\$62.00	\$3.0690	\$61.38
26 P5	Slip Joint Extension Tube, 1-1/4" X 12" Chrome 22 Gauge	20	EA	C.S.B #808-12CP	\$2.68	\$53.60	PM# 53105W	\$12.25	\$245.00					
27 P5	Basket Sink Strainer, Complete Assy., 4" Stainless	10	EA	Jetstar #89400	\$2.13	\$21.30	PM# 50545	\$6.25	\$62.50	40800423	\$6.67	\$66.70	\$6.6033	\$66.03
28 P5	Bubbler, Valve Drinking Fountain 3/8" F.I.P. Supply. Push Button, Chrome Plated With Brass Cartridge Lead Free	10	EA				PM# 33950	\$31.50	\$315.00	40700149	\$31.85	\$318.50	\$31.5315	\$315.32
29 P5	72B Spud Gasket, Close-Coupled 3-1/4" x 2-1/4" x 11/16" Sponge Rubber , Mark's #09195 or CCSD Approved Equal	30	EA							40210041	\$0.80	\$24.00	\$0.7920	\$23.76
30 P5	94 Thermocouple, 24"	10	EA	World & Main #TC24	\$4.40	\$44.00	White-Rodgers - PM# 61021	\$5.19	\$51.90	UT-24	\$4.30	\$43.00	\$4.2570	\$42.57
31 P5	97 Thermocouple, 48"	10	EA	World & Main #TC48	\$4.65	\$46.50	White-Rodgers - PM# 61024	\$6.59	\$65.90	UT-48	\$6.39	\$63.90	\$6.3261	\$63.26
32 P5	98 Thermocouple, 72"	10	EA	Chatham Brass 233-72	\$9.50	\$95.00				UT-72	\$10.92	\$109.20	\$10.8108	\$108.11
33 P6	77 Gas, Propane 14 OZ. Disp. Bottle	20	EA											
34 P6	77A Gas, Mapp 14 OZ. Disp. Bottle	30	EA											
35 P7	Coupling, Pump, Cast Metal, 1/2" X 1/2" Offset, Bell & Gossett #118473 ONLY	10	EA	Bell & Gossett #118473	\$13.44	\$134.40	Bell & Gossett 118473 - PM# 62311	\$18.79	\$187.90					
36 P7	Coupling, Pump, Cast Metal, 1/2" X 1/2" Straight Bell & Gossett #118723 ONLY	10	EA	Bell & Gossett #118723	\$25.20	\$252.00								
37 P7	Booster Pump w/Motor (1/25 HP) Bell & Gossett #103252LF ONLY	20	EA	Bell & Gossett #103252LF	\$324.19	\$6,483.80								
38 P7	67 Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 16" X 1/2" FIP X 1/2" COMP	100	EA	C.S.B #SS3-16F	\$1.89	\$189.00	PM# 57577	\$1.39	\$139.00	1204274	\$2.33	\$233.00	\$2.3067	\$230.67
39 P7	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 7/8" BCK X 1/2" COMP	30	EA	Savard # C000558	\$1.64	\$49.20				1204281	\$2.20	\$66.00	\$2.1780	\$65.34
40 P7	Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 1/2" FIP X 3/8" COMP	200	EA	C.S.B # SS1-20F	\$1.76	\$352.00	PM# 57574	\$1.39	\$278.00	40800238	\$2.18	\$436.00	\$2.1582	\$431.64
41 P7	70 Water Keys, 4 ln 1, 1/4", 9/32", 5/16", 11/32"	60	EA	EZ Flow #45401	\$1.23	\$73.80	PM# 36332	\$1.49	\$89.40	20200004	\$2.07	\$124.20	\$2.0493	\$122.96
42 P7	71 Zurn Frost Proof Key, 3-3/4" Long	50	EA		\$1.90	\$95.00	PM Replacement # 53025	\$1.25	\$62.50	20200137	\$4.25	\$212.50	\$4.2075	\$210.38
43 P7	1 0	50	EA	Jetstar # 24038	\$0.99	\$49.50	PM# 40047	\$0.79	\$39.50	40211226	\$1.35	\$67.50	\$1.3365	\$66.83
44 P7	73 Supply Line Flexible Stainless Steel with Beveled Washer Joint Connections with Brass Inserts and Nuts, 20" X 1/2" COMP X 1/2" FIP	100	EA	C.S.B #SS3-20F	\$2.20	\$220.00	PM# 57629	\$1.19	\$119.00	40800578	\$2.65	\$265.00	\$2.6235	\$262.35
45 PB	055 Bubbler, Valve Halsey Taylor Part #74025076000 ONLY	10	EA							74025076000	\$278.00	\$2,780.00	\$275.2200	\$2,752.20
46 PB	057 Bubbler, Valve, Dial-A-Drink Oasis #030744-006	50	EA							030744-006	\$79.90	\$3,995.00	\$79.1010	\$3,955.05
# De	scription			Disco	ount		Discount					Discount		
	Discount													
1 Pe	r Special Terms & Conditions 6.9, please provide a discount for related items not listed.	20% will be computed before	ore any quotat	ion or order	20%	T&S Brass \$0.32 off list, Sloan \$0.40 off list								

Awarded items highlighted in yellow

Did not meet specs. See Explanation of Award